Zebra Technologies Europe Ltd
Valid for Customers outside the UK

o
% Description Part Number I.EMEA. N g
List Price =
»¥ Zebra N
Packing Materials, Bulk Qty of 10 Z4M+ & ZM400 77128PBM € 649.00| ®
Packing Materials Qty of 1 Z4M+ & ZM400 77128PM €133.00| ®
Packing Materials Qty of 1 Z6M+ & ZM600 77129PM € 133.00 [
Kit Maint Pressure Dials and Springs Z6M+ & ZM600 77172-6M € 26.00 o
Kit Maint Peel Unit Pinch Roller, Z4M+ & ZM400 & S4M 77197M € 56.00
Kit Media Rewind Outer Guards ZxM+ & ZMx00 77459M € 19.00 o
Kit Maint Peel Unit Pinch Roller Z6M+ & ZM600 77727M € 49.00 [
Ribbon Take-Up Clutch Kit ZxM+ & ZMx00 77814M €25.00| @ | ®
Kit Maint Main Logic Board (MLB) 8MB ZMx00 Series 79400-001M €417.00| @ | ®
Kit Maint Main Logic Board (MLB) 64MB ZMx00 Series 79400-002M €510.00| @ | ®
Kit Maintenance Printhead 203 dpi ZM400 79800M € 390.00| ®
Kit Maintenance Printhead 300 dpi ZM400 79801M € 455.00| ®
Kit Maintenance Printhead 600 dpi ZM400 79802M €1,200.00| ®
Kit Maintenance Printhead 203 dpi ZM600 79803M € 430.00 o
Kit Maintenance Printhead 300 dpi ZM600 79804M € 670.00 o
Kit Maint Printhead Mechanism & 203 dpi Printhead ZM400 79810M €497.00| ®
Kit Maint Printhead Mechanism & 300 dpi Printhead ZM400 79811M €571.00| ®
Kit Maint Printhead Mechanism & 600 dpi Printhead ZM400 79812M €1,401.00| ®
Kit Maint Printhead Mechanism & 203 dpi Printhead ZM600 79813M € 695.00 o
Kit Maint Printhead Mechanism & 300 dpi Printhead ZM600 79814M € 969.00 o
Kit Maint Platen Roller ZM400 79815M € 46.00| ®
Kit Maint Platen Roller ZM600 79816M € 65.00 [
Kit Drive System ZMx00 Series (includes pulleys, gears, belts, gear cover) 79818M €60.00l @ | ®
Kit Print Mechanism Latch ZMx00 Series 79819M €102.00| @ | ®
Kit Power Supply ZMx00 Series 79820M €366.00 @ | ®
Kit Maint Ribbon Out/Head Open Sensor ZMx00 Series 79821M €2700| @ | ®
Kit Printhead Cables ZMx00 Series 79822M €60.00| ® | ®
Kit Control Panel ZMx00 Series 79825M €275.00 @ | ®
Kit Electronics Cover ZMx00 Series 79826M €86.00l @ | ®
Kit Cable Media Rewind ZMx00 Series 79827M €37.00 @ | ®
Kit Maint Ribbon Supply Spindle ZM400 79828M € 42.00| ®
Kit Maint Ribbon Supply Spindle ZM600 79829M € 109.00 [
Kit Maint Media Cover ZM400 79833M €154.00| ®
Kit Maint Media Cover ZM600 79834M € 195.00 o
Kit Maint Tear Bar ZM400 79837M €25.00| ®
Kit Maint Tear Bar ZM600 79838M € 30.00 o
Kit Maint Media Hanger ZM400 79839M €37.00| ®
Kit Maint Media Hanger ZM600 79840M € 42.00 o
Kit Cover for the Cutter includes PCB and cutter cable ZM400 79843M €132.00| ®
Kit Cover for the Cutter includes PCB and cutter cable ZM600 79844M € 136.00 o
Kit Print Mechanism Magnet ZMx00 Series 79845M €20.00| @ | ®
Kit Maint Media Sensor ZM400 79848M €139.00| ®
Kit Maint Media Sensor ZM600 79849M € 158.00 o
Kit Ribbon Static Brush ZM400 79854M € 20.00| ®
Kit Ribbon Static Brush ZM600 79855M € 26.00 [
Kit Front Lower Cover ZM400 79856 M €14.00| ®
Kit Front Lower Cover ZM600 79857M € 19.00 o
Kit Maint Rear Lower Cover ZM400 79858M €28.00| ®
Kit Maint Rear Lower Cover ZM600 79859M € 32.00 o
Kit Ribbon Strip Plate ZM400 79860M € 23.00| ®
Kit Ribbon Strip Plate ZM600 79861M € 32.00 [
Specifications and Prices subject to change without notice
15/08/2007 Minimum order value €250 lof2




Zebra Technologies Europe Ltd
Valid for Customers outside the UK

o o
% Description Part Number I.EMEA. N g 3
List Price = =
»¥ Zebra NN
Kit Platen Coupler ZMx00 Series 79862M €83.00 @ | ®
Kit Media Window ZMx00 Series 79863M €28.00l @ | ®
Kit Static Brush for the Cutter & Guard ZM400 79864M €100.00| ®
Kit Static Brush for the Cutter & Guard ZM600 79865M € 107.00 o
Kit Drive Belt 203 dpi ZMx00 79866M €19.00 @ | ®
Kit Drive Belt for 300 dpi AND 600 dpi ZMx00 79867M €19.00 @ | ®
Kit Media Shelf ZM400 79869M € 32.00( ®
Kit Media Shelf ZM600 79870M € 37.00 [
Rewind PCB Maint. Kit Z4Mplus & ZM400 G34110M €125.00| ®
Rewind PCB Maint. Kit Z6Mplus & ZM600 G34111M € 371.00 [
Motor and Board Assy LTU Z4M+ & ZM400 G34112M €195.00| ®
Ribbon Take-Up Spindle Assy Kit, Z4M+ & ZM400 G77100M € 34.00| ®
Ribbon Take-Up Spindle Assy Kit, Z6M+ & ZM600 G77117M € 53.00 [
Packing Materials, Bulk Qty of 10 Z6M+ & ZM600 G77129PBM € 681.00 [
Kit Maint Steer Roller, Z4M+ & ZM400 G77167M €97.00| ®
Kit Maint Steer Roller, Z6M+ & ZM600 G77168M €116.00 [
Kit Maint Pressure Dials and Springs Z4M+ & ZM400 G77172M €23.00| ®
Stepper Motor Assy Kit ZxM+ & ZMx00 G77813M €53.000 @ | ®
Packing Materials, Bulk Qty of 10 Media Rewind versions Z4M+ & ZM400 G77932PBM €681.00| ®
Packing Materials for Media Rewind versions of Z4M+ & ZM400 Qty of 1 G77932PM € 156.00| ®
Packing Materials Qty of 10 Media Rewind Z6M+ & ZM600 G77933PBM € 681.00 o
Packing Materials for Media Rewind versions of Z6M+ & ZM600 Qty of 1 G77933PM € 157.00 o
Spindle and Motor Maint. Kit Z6Mplus & ZM600 G79026-6M € 268.00 [
Spindle and Motor Maint. Kit Z4Mplus & ZM400 G79026M €195.00| @
E Ring Ext .375 Yel, Qty of 25 HWO06313 €19.00 @ | ®
Screw M4 x 0.7 x 12, Qty of 25 HW10432 €19.00| @ | ®
Nut Hex M3, Qty of 25 HW10460 €19.00 @ | ®
Washer FI M3, Qty of 50 HW10470 €19.00 @ | ®
Washer Split M3, Qty of 50 HW10471 €2400[ @ | ®
Standoff 4-40 HEX, Qty of 25 HW32406 €2400| @ [ ®
Ground Screw Spacer, RTU Qty of 25 HW33807 €19.00| @ | ®
Lock Washer 4mm Bag of 25 HW43482 €900 @ | ®
Rubber Bumper Feet, Qty of 10 HW44014 €19.00| @ | ®
Washer Split M4, Qty of 25 HW45931 €19.00 @ | ®
Washer Lock #4, Qty of 100 HW45945 €19.00| @ | ®
Screw 4-40 x .31, Qty of 25 HW78802 €51.00 @ | ®
Screw M3 x .5 x 6, Qty of 50 HW78804 €10.00| ® | ®
Screw M3 x 0.5 x 6, Qty of 50 HW78805 €19.00| @ | ®
Flat Washer 4mm Bag of 25 HW78806 €900 @ | ®
Screw M3 X 0.5 X 6 Bag of 25 HW78809 €900 @ | ®
Screw M4 x 0.7 x 10, Qty of 5 HW78814 €19.00| @ | ®
Flat Washer .250 .125 .023 bag of 25 HW79041 €19.00 @ | ®
Cable Tie (Quantity of 20) HWQ06020 €14.00| @ | ®

Specifications and Prices subject to change without notice
15/08/2007 Minimum order value €250 20f2



